Maths 9.10.20
Good morning Year 3s! 
Don’t forget it’s the last day to have a go at your mad minutes! See if you can get them all completed before the timer finishes.   
L.I – To subtract 10 from 3 digit numbers
Yesterday you looked at adding 10 to a 3 digit number. 
Today we’re going to subtract 10 from a 3 digit number.
Look at this number: 243
Can you partition it? How many hundreds? How many tens? How many ones?

Now REMEMBER, when you subtract, you are taking away. 
243 – 10 = 233 because there were 4 tens and you have taken 1 away, so now there are 3 tens left. 
Task  - 
ALL children have a go at these please.
1. 240 – 10 = 
2. 870 – 10 = 
3. 640 – 10 = 
4. 930 – 10 = 
5. 550 – 10 = 
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Have a go at these if you want to. 
There might be some questions here that are a bit different. See if you can figure out how to work them out. 
1. 876 – 10 = 
2. 458 – 10 = 
3. 192 – 10 = 
4. 920 – 10 = 
5. 512 – 10 = 
